

# Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### I Semester

			_	For batches admitted in July, 2024											
								m Marks All			=		ntact F		
S.No	Course	<b>a</b> .		Course Name		1	Theory		P	ractical	Total	F	er we	ek	Total
•	Code	Category				Mid Sem.	Attd.	Quiz/Assi gnment	End Sem.	Lab work & Sessional	Marks	L	Т	P	Credit s
	, 	tion Program ( weeks)	•	Physical Activity, Creative Visit			Peo		•	•	ctures by Em	inent			
For	urth week on	wards classes	will start			T	1	_	ı	_	•				
1	BT121	BSC	Problem So Thinking	olving & Algorithm	50	25	5	20	25	25	150	3	-	2	4
2	BT122	BSC	Calculus &	Linear Algebra	50	25	5	20	-	-	100	3	1	-	4
3	BT123	HSMC	English for	Inglish for Communication		25	5	20	25	25	150	3	-	2	4
4	BT124	ESC		Basic Electrical And Electronics Engineering		25	5	20	25	25	150	3	1	2	5
5	BT125	DC	Computer	Hardware Essentials	-	-	-	-	15	10	25	-	-	2	1
6	BT126	DC	Computer S	Software Essentials	50	25	5	20	25	25	150	3	-	2	4
7	BT127	VAC	Skill Base Course)	d Course-1 (MOOCs	It's	a one cre	dit course &		ted during end of tea	the semester a ching.	nd submit ce	rtificate	e befor	e the	1
8	BT128	HSMC		harat Summer Internship ırat Abhiyan (100Hrs)Rural	-	-	-	-	15	10	25	_	-	2	1
9	BT 129	MC	Indian Cor	nstitution	Non Credit Mandatory Course ( can be done through MOOC platform and certificate need to be submitted									omitted	
10	BT 120	HSMC	NCC/NSS activities	/Extra Curricular/Club	It's a	two cred	lit course and			e second semes d semester.	ter based on	the per	formar	nce of	2*
	Total					125	25	125	130	120	750	15	2	12	24

	1HrLecture	1HrTutorial	2HrPractic	al
1Credit	1Cred	lit	1Credit	



# Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### II Semester

										For batc	hes adm	itted in J	luly, 2024	
							um Marks Allo			-	Contact Hours per			Total
					The	eory Slot	· ,	Prac	ctical Slot	-		week	1	Credits
S. No.	Course Code	Category	Course Name	End sem	Mid sem Exam	Attd.	Continuous Assessment	End Sem.	Lab work& Sessiona l	Total Marks	L	Т	P	
1	BT221	HSMC	Semiconductor Physics	50	25	5	20	25	25	150	3	0	2	4
2	BT222	HSMC	Discrete Structure	50	25	5	20	-	-	100	3	1	-	4
3	BT223	ESC	Basic Mechanical &Civil Engineering	50	25	5	20	25	25	150	3	1	2	5
4	BT224	DC	User Interface Design	50	25	5	20	25	25	150	3	-	2	4
5	BT225	DLC	Computer Programming	50	25	5	20	25	25	150	3	-	2	4
6	BT226	HSMC	Language Lab &Seminars	-	-	-	-	25	25	50	-	=	4	2
7	BT227	VAC	Skill Based Course-2 (MOOCs Course)	It's a or	ne credit co	ourse & to	be completed of	during the steach		ubmit certifi	icate be	fore the	end of	1
8	BT 228	MC	Indian Knowledge System	Non Cr	edit Mand	atory Cou	ırse ( can be don	e through	MOOC platfor	m and certif	ïcate ne	ed to be	e submitt	red)
9	BT 229	MC	Basics of Cyber Security	Non Cr	edit Mand	atory Cou	rse ( can be don	e through	MOOC platfor	m and certif	icate ne	ed to be	e submitt	ed)
10	BT120	HSMC	NCC/NSS/Extra Curricular/Club activities	Non Credit Mandatory Course ( can b  It's a two credit course and will be evaluated in the second semester based on the performance of first and second semester.			-	15	10	25	-	-	2	1
			Total	250	125	25	100	140	135	775	18	2	14	25

1HrLecture	1HrT	Cutorial	2HrPractical
1Credit	1Credit	1Cre	dit



# IES UNIVERSITY, BHOPAL

IES Campus Kalkheda, Ratibad Main Road, Bhopal (M.P.) – 462044 New Scheme of Examination as per AICTE Flexile Curricula

Bachelor of Technology (B.Tech.)[CSE]

**W.E.F JULY 2024** 

### **III Semester**

										For batche	es admitted	l in July	, 2024	
		Catagony			T		mum Marks A				Conta	ct Hou week	ırs per	
S. No.	Course	Category	Course Name		1	heory		P	ractical	Total			ı	Total
5. 110.	Code		I I	End Term Exam	Mid Term	Attd	Continuous Assessment	End Term Exam	Continuous Assessment	Marks	L	Т	P	Credit
1	BT-321	HSMC	Probability Statistics & Reliability	50	25	5	20	-	-	100	3	1	-	4
2	CS-322	DC	Computer Organization Architecture	50	25	5	20	25	25	150	3	1	2	5
3	CS-323	DC	Data Structure and Algorithm	50	25	5	20	25	25	150	3	1	2	5
4	CS-324	DC	Object Oriented Programming & & Methodology	50	25	5	20	25	25	150	3	1	2	5
5	CS-325	DC	Digital Systems	50	25	5	20	25	25	150	3	-	2	4
6	CS-326	HSMC	Personality Development	-	-	-	-	25	25	50	1	-	-	1
7	CS 327	VAC	Skill Based Course 3 (MOOCs)	I	t's a one	credit		_	during the ser	nester and	l submit	certifi	cate	1
8	BT 328	MC	Emotional Intelligence for Managerial Effectiveness	Non	Non Credit Mandatory Course (can be done through MOOC platform and certificate need to be submitted)									be
	Total				125	25	100	125	125	750	16	4	8 HrDroot	25

1HrLecture	1HrTutorial	2HrPractical	
1Credit	1Credit	1Credit	



# IES UNIVERSITY, BHOPAL IES Campus Kalkheda, Ratibad Main Road, Bhopal (M.P.) – 462044

New Scheme of Examination as per AICTE Flexile Curricula

Bachelor of Technology (B.Tech.)[CSE]

**W.E.F JULY 2024** 

### **IV** Semester

					Maximum Marks Allotted						Contact Hours per week			
S. No.	S. No. Course Course Name					Theory Pract			ractical	r		Total		
	Code	Category		End Term Exam	m Mid Attd. Continuous Term Assessm		Continuous Assessment	S	L	Т	P	Credits		
1	ES-421	ESC	Energy Environment studies & climate Change	50	25	5	20	-	-	100	3	0	-	3
2	CS-422	HSMC	Numerical methods & optimization Techniques	50	25	5	20	-	-	100	3	1	-	4
3	CS-423	DC	Software Engineering	50	25	5	20	25	25	150	3	-	2	4
4	CS-424	DC	Analysis &Design of Algorithm	50	25	5	20	25	25	150	3	1	2	5
5	CS-425	DC	Operating Systems	50	25	5	20	25	25	150	3	1	2	5
6	CS-426	DLC	Programming Practices	-	-	-	-	25	25	50	-	-	4	2
7	BT427	VAC	Skill Based Course -4 (MOOCs)	It'	s a one o	credit co			during the send of teaching.	mester an	d subm	it certi	ficate	1
8	BT428	ESC	Critical & Creative Thinking Skills	-	-	-	-	15	10	25	-	-	2	1
9	CS 429	PJ	Industrial Training	90 I	Hrs Train				ester break of ed in fifth seme			emeste	r. Its	0
	Total				125	25	100	115	110	725	15	4	12	26

1HrLecture	1HrTutorial	2HrPractical
1Credit	1Credit	1Credit



# Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### V Semester

		•												July, 2024
	Course	Category				Maximi Theory	um Marks Allo		Practical	- Total	Conta	rs per	Total	
S. No.	Code		Course Name	End Term Exam	Mid Term	Attendance	Continuous Assessment	End Term Exam	Continuous Assessment	Marks	L	Т	P	Credits
1	CS 521	DC	Theory of Computation	50	25	5	20	25	25	150	3	-	2	4
2	CS 522	DC	Database Management System	50	25	5	20	25	25	150	3	-	2	4
3	CS 523	DC	AI Foundation	50	25	5	20	25	25	150	3	-	2	4
4	CS 524	DC	Internet & Web Technology	50	25	5	20	25	25	150	3	-	2	4
5	CS525	DE	Departmental Elective-I	50	25	5	20	-	-	100	3	-	-	3
6	CS526	DLC	Python Lab	-	-	-	-	25	25	50	-	-	4	2
7	CS 527	PJ	Project for Community Service (Phase 1)	-	-	-	-	25	25	50	-	-	4	2
8	CS 528	VAC	Skill Based Course -5(MOOC) Guided Project-I Coursera	It	It's a one credit course & to be completed during the semester and submit certificate before the end of teaching.									1
9	BT 429	PJ	Industrial Training		semester.	ining to be con r break of four Its evaluation n fifth semeste	th & fifth /credit to be	25	25	50	-	-	4	2
	Total				125	25	100	175	175	850	18	0	20	26

Open Electives-I OE 525 (A) - (C)
OE 525 (A) Soft Computing
OE 525 (B)Natural Language Processing
OE 525 (C) Computational Intelligence

1HrLecture	1HrTutorial	2HrPractical
1Credit	1Credit	1Credit



### Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### VI Semester

						Maxim	um Marks Allo	tted			Conta	ct Hour	rs per	
S. No.	Course	Category	Course Name			Theory		I	Practical	Total				Total
	Code			End Term Exam	Mid Term	Attendance	Continuous Assessment	End Term Exam	Continuous Assessment	Marks	L	Т	P	Credits
1	CS621	DC	MachineLearning	50	25	5	20	25	25	150	3	1	2	4
2	CS622	DC	ComputerNetworks	50	25	5	20	25	25	150	3	1	2	4
	CS 623	DC	Internet of Things	50	25	5	20	25	25	150	3	-	2	4
3	CS 624	DE	DepartmentalElective-II	50	25	5	20	-	-	100	3	-	-	3
4	OE 625	OE	OpenElective-II	50	25	5	20	-	-	100	3	-	-	3
5	CS626	DLC	Advance Python Lab	-	-	-	-	25	25	50	-	-	4	2
6	CS 627	PJ	Engineering Project for Community Service (Phase 2)	-	-	-	-	25	25	50	-	-	4	2
7	CS 628	VAC	Skill Based Course -6(MOOC) Guided Project-II from Coursera		It's a one credit course & to be completed during the semester and submit certificate before the end of teaching.									1
		Total	250	125	25	100	125	125	750	15	2	14	23	

Departmental Electives-II DE 624 (A)- (C)	Open Electives-II OE 625 (A)-(C)
624 (A) Advanced Computer Architecture	625 (A)KnowledgeManagement
624 (B)ComputerGraphics&Visualization	625 (B)ProjectManagement
624(C)CompilerDesign	625(C)RuralTechnology&CommunityDevelopment

1HrLecture	1HrTutorial	2HrPractical
1Credit	1Credit	1Credit



# IES UNIVERSITY, BHOPAL

IES Campus Kalkheda, Ratibad Main Road, Bhopal (M.P.) – 462044 New Scheme of Examination as per AICTE Flexile Curricula

### Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### **VIIISemester**

		Categories Course		Maximum Marks Allotted					Contact Hours per week					
S. No. Course Code			Course Name	Theory			Practical		Total				Total	
		Course 1 (unit	End Term Exam	Mid Term	Attendance	Continuous Assessment	End Term Exam	Continuous Assessment	Marks	L	Т	P	Credits	
1	CS 821	DC	Cloud Computing	50	25	5	20	ı	-	100	3	ı	2	4
2	CS 822	DE	Departmental Elective –IV	50	25	5	20	-	-	100	3	-	-	3
3	CS 823	OE	Open Elective –IV	50	25	5	20	ı	-	100	3	1	-	3
5	CS 824	DLC	Java Script	-	-	-	-	25	25	50	-	1	4	2
6	CS 825	PJ	CAPSTONE PROJECT (Phase 2)	-	-	-	-	100	50	150	-	-	6	3
8	CS826	VAC	Skill Based Course -7 (MOOCs)	It's a one credit course & to be completed during the semester and submit certificate before the end of teaching.						1				
	Total			150	75	15	60	75	75	500	9	0	12	16

Departmental Electives-IV	Open Electives -IV
822(A) Block Chain Technology	826(A)Cryptography & Information Security
822(B)Deep & Reinforcement Learning	826(B) Managing Innovation &Entrepreneurship
822(C)Wireless &Mobile Computing	826 (c) AI in Health Care

1HrLecture	1HrTutorial	2HrPractical	
1Credit	1Credit	1Credit	



# IES UNIVERSITY, BHOPAL

IES Campus Kalkheda, Ratibad Main Road, Bhopal (M.P.) – 462044 New Scheme of Examination as per AICTE Flexile Curricula

### Bachelor of Technology (B.Tech.)[CSE]

# **W.E.F JULY 2024**

### **VII Semester**

				Maximum Marks Allotted						Contact Hours per week				
S. No.	Course	Course Code Course Name		Theory			Practical		Total				Total	
Code			End Term Exam	Mid Term	Attendance	Continuous Assessment	End Term Exam	Continuous Assessment	Marks	L	T	P	Credits	
1	CS721	DE	Departmental Elective –III	50	25	5	20	-	-	100	3	-	-	3
2	CS722	OE	Open Elective –III	50	25	5	20	-	-	100	3	-	-	3
3	CS723	PJ	Capstone Project (Phase 1)	-	-	-	-	50	50	100	1	-	4	2
4	CS 724	PJ	Semester Internship	-	=	ı	ı	100	150	250	ı	-	16	8
	·		Total	150	75	15	60	150	200	550	6	-	20	16

Departmental Electives-III	Open Electives-III
CS 721 (A) Block Chain Technologies	CS 722 (A)Image Processing & Computer Vision
CS 721 (B) Software Architecture	CS 722 (B) Game Theory
CS 721 (C) Computer Vision	CS 722 ( C ) IOT Design and Applications

(B)1HrLecture	1HrTutorial	2HrPractical
1Credit	1Credit	1Credit